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UNIT ONE GRAVITY

Our planet, The Earth , always spins in space . We never fall off the surface of The Earth. We
can move on it like the ants walking on a tennis ball . Why don’t we fall off ?

The Earth contains a big amount of matter . Its mass is great . Every particle of matter has a
pulling force. The particles of matter pull on each other. We call this pulling force “gravity”.
The force of gravity keeps us from falling off the Earth .

Synonyms : spin : rotate contain : include force : power
Equivalents: spin:cxds>  space:lad  fall off : 02 Shsiu  surface:ghe move (028 <S A

ant:4a_s« contain : & S 0 amount : )i matter : s2le mass:ax»  pull: guds

call : gasl force : s gravity : 4l keep : (ridla 455
Comprehension test : The force that keeps us from falling off the Earth is :
a)matter b)mass c)space d)gravity

True or False : Gravity is the pulling force of the particles on each other. (TRUE) (FALSE)

1290 (o S A e and IS 4y 28 ) 8 ABLG) Cig A I de JaB AS g 3 T Gyt (g g 438D
...keeps us from falling off ...



UNIT TWO THE EARTH

P

The Earth spins in space like a top. It rotates on its axis . At the same time it revolves round the
sun. There is always a part of the Earth facing the sun. It is day for that part of the Earth and
night for the other part. We measure our days and nights by these rotations of the Earth. One
rotation of the Earth takes 24 hours which is one day. One revolution of the Earth round the
sun takes 365 days. These revolutions make our years .Every year consists of four seasons .

Equivalents: top: o8  axis:us™ same:o2  revolve: (RS i€ round: Usid
face: 5.9, other: 5 measure: Osaia  take: O%dS Jsb hour: <elu  season: Jwad

Comprehension test : Days and nights are the result of the .................. of the Earth.
a)revolution b)rotation c)axis d)season

True or False : Every revolution of the Earth includes four season. (TRUE) (FALSE)

13800 G (B e gy b 2 e @l o g JOB (g o sdbas Jla Gl pla) Jad s 1 (g g 43S
.One rotation of the Earth round the sun takes 365 days.



UNIT THREE PENGUINS

Penguins get all their food from the sea. Although these birds have wings, they never fly. They

use their wings for swimming. Their home is on land. They lay their eggs there and grow up
their babies.

At first baby penguins are afraid of water. Their parents have to go to the sea and find food for
them. Meanwhile they teach the babies how to swim and find their own food in the sea. Before
long the parents move to new homes. Then the babies go to the sea and find food themselves.

Equivalents: get: (sl oy food: ¥  although: 42 bird :ex%  wing: Ju
fly : 08309 use : O M swim : ¢S Ud land : S lay : ¢adIX baby : 34

afraid: Os =  parents: dlls  meanwhile: (e (22 own: 255 Jw move to:(H S (S Ji

Comprehension tests : Penguins’ wings help them to ...........
a)fly b)find food c)swim d)lay eggs
Penguins’ food come from .............
a)the sea b)the land c)theirhomes  d)the eggs

True or False : Penguins lay their eggsinthesea. (TRUE) (FALSE)
Baby penguins find their food after their parents move to new homes. (TRUE)  (FALSE)

Dagd pa b Alaa ) (ad Al Sely e o Adad 3 Al Garald 18T a8 a0 T Gl (5 g AXSS
They never fly .



UNIT FOUR THE GLOW-WORM

The glow-worm is an insect. In spite of its name, the glow-worm is not really a worm, but a
member of the beetle family. Its body is composed of two parts. There are two spots of bright

red on each of these two parts. At night, there is a green light in its tail.

The glow-worm hunts a very small kind of snail for food. The glow-worm’s method of attack is
very interesting. First it makes the snail unconscious and then has it. But the glow-worm can’t
eat anything. It can only drink. Therefore, it changes the solid food into thin liquid and drinks it.

Equivalents : glow-worm : b s S insect : opda in spite of : o€ e really:" a8

member : sz beetle : Sy composed : sad JuSid spot : J& bright : cléa e

each:<2» light: s tail:p2 hunt: e sSE kind:gs  snail : ¢sils  attack: ¢S 4aa

unconscious : (s therefore : ¢l sli change: (28 Jas solid : xla liquid : &le

Comprehensiontest: There are ......cccceeueunens green spots on the body of the glow-worm.
a)two b)no c)four d)many

True or False : The glow-worm is unconscious when it drinks the liquid food. (TRUE) (FALSE)

-M‘JMWJNQWL#JM‘J‘LHW‘M‘ JJQJIS&JD'AA el Gla) g G s GlsS
It can only drink.



UNIT FIVE THE COUNTRY VS. THE CITY

i,

We live in the country where there is plenty of room and fresh air. When everybody in the city
suffers from the heat in the summer, we enjoy cool breezes in the gardens.

People in the city have busy lives. They rush from place to place. They are usually worried. But
our life is not much complicated. We are busy of course, but our schedule is flexible. We have
less noise and pollution in the country. We are seldom nervous. We live close to the earth
which has a great restoration power. But, it is true that we sometimes feel a little lonely.

Synonyms : country: village plenty: much worried: anxious nervous: angry close: near

Equivalents: country:Uws,  plenty: k) room ; L fresh: o35 suffer: oz
enjoy: (2 d  breeze: s busy: § sl rush: o8, dasly  worried: OS5 noise 114 g
complicated: s33x  of course: 4l flexible: »d iUsxil  pollution: 2281 nervous: Sas
close : a3 restoration : (ida feel : 28 (ulwal schedule: 4l » lonely : 24

Comprehension tests: Those who live in the country usually enjoy ..........
a)fresh earth b) the summer heat c)breezes  d)their rooms
The life of the people in the city is not only complicated but also ......

a)busy b)lonely c)enjoyable d)flexible
Living close to the earth makes us feel ....................
a)noisy b)flexible c)joyful d)worried

The only thing that country people sometimes suffer from is .......... .
a) schedules b)feeling lonely  c)restoration power d)gardens

True or False : People who live in the country are not busy at all . (TRUE) (FALSE)
There is little pollution in the country than in the city. (TRUE)  (FALSE)
Sometimes the people in the country suffer from loneliness. (TRUE) (FALSE)

DN i IS b Ll ) g g Al e lady Jaage Alad Gl )3 i sl AalS D (i (5 g 4TSS
.We live in the country where there is plenty of room and fresh air.
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UNIT SIX THE SHELL AND SKELETON
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The bones inside your body make up your skeleton. Muscles cover your skeleton. Your skeleton
protects many parts of your body and supports you when you stand or sit. As you grow up,
your skeleton grows with you.

A water-bug has no skeleton. It has a shell on the outside of its body instead. But the shell does
not grow with the bug.

When the bug becomes too big for its shell, the shell falls off. But there is a new shell
underneath. This new shell replaces the old one after it falls off. The water-bug gets a new shell
almost six times in its life.

Synonyms: make up : form protect : support become : get almost : about
Antonyms : inside # outside = many # few big # small new # old after # before
Equivalents : bone : o siiw make up : (M JSEE muscle : 492l protect: O2US clilia

support: (28 Sidy  growup: Sk shell :4dwy;  instead : sl 4 become : (M
too: oM}l i underneath: 52 replace: od (u s almost : "L time : 4ada

Comprehension tests : What supports the body while it is moving is the ..........
a)old shell b)body c)underneath shell d)skeleton
What replaces the shell when it grows too big, is the ............
a)underneath shell b)life c¢)muscles d)body

True or False: The muscles, too, grow with your body as you grows up.  (TRUE)  (FALSE)
The muscles cover the underneath shell of the water-bug. (TRUE) (FALSE)
The old shell does not fall off before it is too big for the bug. (TRUE) (FALSE)
New muscles take the place of the skeleton in our bodies. (TRUE) (FALSE)
During its life, the water-bug gets a new shell several times. (TRUE) (FALSE)

:Qu\eﬁu‘j‘d,\sm‘)ﬁ;J‘ﬁdMM\Jé:decgJJhdm
The water-bug gets a new shell almost six times in its life.
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UNIT SEVEN VOLCANO

In ancient stories of Rome, Vulcan was the black smith of gods. He made spears and shields
and swords for them. He made all their furniture as well.

Vulcan had golden slaves. These slaves could move. They helped him do his work. He worked
under the ground. He built huge fires to melt metals.

Sometimes these fires got too hot and exploded and activated a volcano. This is the way the
Romans of that time explained the outbreak of a volcano.

The English word “volcano” comes from this god’s name.

Synonyms : ancient : very old as well : too build : make explain : describe

Equivalents: ancient:(tut  black smith: 51  spear:ojs  shield: s  sword : sdad
furniture: 45881 as well: osisa  golden: (2% slave:s2x  move: (RS S help: (S S
under: )  ground:ox)  build:oiScwy huge:alis melt:ciSwsd metal ;3B
explode : (34 adia  volcano: gbid&il  way: ohgs  explain:o¥iz o outbreak ;oS olsh

Comprehension tests : Vulcan made the furniture with the help of :
a)gods b)fire c)metals d)slaves
The ancient Romans explained the volcano as the outbreak of......
a)fire b)ground c)black smith d)spears

The word volcano comes from the name of ............
a)Romans b)a god’s name c)golden slaves d)metals

True or False : The black smith of gods helped the outbreak of the volcano. (TRUE) (FALSE)
The slaves helped Vulcan to make furniture for gods. (TRUE) (FALSE)
The ancient Romans could explain the outbreak of a volcano. (TRUE) (FALSE)

D 3gd pa alad) Ll jlae Ay ) 4y digen (39380 b o2 B Ly Jlad) 4SS JSUd Clla 1 il (5 g 4TSS
helped worked exploded activated explained



UNIT EIGHT FEAR

The Liver

There are times when fear is good for us. In fact fear can sometimes save a person’s life.
Imagine a man in danger, for example. He may suddenly realize that he can run faster and
longer than he could. This is not his imagination. It is because his fear is helping him. Here is
what happens:

When we feel fear, a change takes place in our bodies. Our livers give up some of the sugar
that they have stored. This sugar goes into the blood and changes into energy, and it is this
energy that gives us more power and helps us act fast. This is the way how fear may save a
person’s life.

Synonyms : in fact : actually happen : take place realize : find out

Equivalents: fear: s infact: &8y 2  imagine: (2 Su3<l  danger: Jba example: Ji«

suddenly : ¢4Su realize : &0 happen : ¢ & take place : ¢l 59y liver : s
give up : (RS Wy store : (S oAl blood : ¢ act (RS Jes
Comprehension tests : Fear can sometimes help us .........

a)feel running b)stay alive c)imagine sugar d)feel sweet

The sugar changes into energy when itis in ...........

a)the blood b)the livers c)danger d)fear

When we are in danger, we act fast as a reason of ..........

a)blood b)liver c)sugar d)fear

True or False: Blood stores sugar to change it to energy when we are in danger.(TRUE) (FALSE)

Dagd padida g dan e jhaa ) el Jad Gl ()t Qa5 s 43S
Imagine a man in danger, for example.
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UNIT NINE MAPs

Maps show what the Earth looks like. They help us reach to where we want to go. Some maps
are flat paper. Some are big balls. They are great guides.

A map that is like a ball is called a globe. It has the shape of the Earth. It shows where the lands
seas and the oceans of the world are.

Sailors use a map that shows how deep the water is. It shows where the cliffs and underwater
hills are. It also shows what the beach looks like.

Pilots use their own type of map which shows them the land below. It shows where mountains
are so that they do not run into them.

Various kinds of maps are used for different purposes. They show the geography of the world.

Synonyms: reach: get also:too beach:seaside type:kind various: different

Equivalents : map: 4dai reach: ¢u, flat: e globe: oS shape: J&&  ocean: g« sitd)
sailor: O/ deep: G cliff:o5a  hill: 45 also: @ beach: Jak  pilot: s type: g5
below: ;25 mountain: es$  various: 08U different:-iliss  purpose: <ix guide:lial,

Comprehension tests : A globe map is shaped like ............
a)a ball b)cliffs c)oceans d)the Earth
Flat maps are on .............
a)ball b)globe c)paper d)the beach
Pilots use the map so that they don’t hit the ...........
a)mountains b)cliffs c)hills d)cliffs

True or False : Maps are a great help for the sailors and the pilots. (TRUE) (FALSE)

TN (gt IS Ay g oad G pa J g Jab had dAlaa 3 Jad G ) Gl A0S Cgea 3 T Gl (5 s AXSS
They help us reach to where we want to go .
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UNIT TEN THE PACIFIC

The Pacific is the largest and deepest ocean in the world. Asia, Australia and the American

continent are located around this ocean. There are oceans to the north and south of the Pacific
too. To the north, there is the Arctic Ocean and to the south there is the Antarctic Ocean which
is also known as the Southern Ocean.

The pacific has a major influence on the weather conditions of the world. It not only influences
the temperature, but also causes a lot of clouds to form. The origin of a great volume of the
clouds is the Pacific.

There are quite a few islands in the pacific. Most of them have tropical climates. Many of them
are covered with plants and trees. A large number of them are inhabited.

Synonyms : major : important influence : effect cause:reason quite a few : many

Equivalents : Pacific: o))l (usi®  continent: o) locate: o2& gdly  Arctic: ledidania (ugildl

Antarctic : 2siaania g gitd) major : a¢= influence : iU weather : 125 ol pay
conditions: k& temperature: L cause: (M Cely origin: Wiia volume: s>
quite a few: 32  island: o2 tropical: s £ climate:lsay < inhabited: 45w
Comprehension tests : The Pacific is a major reason of the .............. to form.
a)temperature b)clouds c)islands d)oceans
Most of the islands in the Pacific are covered with ..........
a)inhabitants b)clouds c)continents d)plants

True or False tests:  The Arctic and Antarctic Ocean are around the Pacific. (TRUE) (FALSE)
Many of the Pacific plant-covered islands are inhabited. (TRUE) (FALSE)

:Aﬁwe@\ggm@ébm&woajﬁig wﬁyéﬁmwlﬁjbmm D g s AASUThe
Pacific is the largest and deepest ocean in the world.
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